
;+= g+= ljj/0f cf=a= )&%÷)&^ sf] cg'dfg cfo

3=1=1 ;+3Lo ;/sf/ ljlQo ;dflgs/0f cg'bfg 103100000.00

3=1=2 ;+3Lo ;/sf/ /fhZj afF8kmfF8 55701000.00

3=1=3 cf=j=sf] cGTosf] jfFsL /xg] 40000000.00

3=1=4 cfGtl/s cfo 15000000.00

3=1=5
;fljs ln:tL / dfld{~ uflj;nfO k|fKt x'g] dWoef]6]sfzL cfof]hgfjf6 

cg'bfg

6000000.00

3=1=6 ;+3Lo ;/sf/ ;zt{ cg'bfg 70300000.00

3=1=7 k|b]z ;/sf/ ljlQo ;dfgLs/0f cg'bfg 7663000.00

3=1=8 k|b]z ;/sf/ ;zt{ cg'bfg 12590000.00

3=1=9 ;8s af]8{ g]kfn 200000.00

3=1=10 ;fd'bflos zf;g Ifdtf ljsf; rfn' LGCDP 800000.00

3=1=11 ;fdflhs ;'/Iff eQf -;+3Lo ;/sf/ rfn'_ 30000000.00

341354000.00

3=2=1 ;+3Lo ;/sf/ ;zt{ cg'bfg 70300000.00

3=2=2 k|b]z ;/sf/ ;zt{ cg'bfg 12590000.00

3=2=3 ;8s af]8{ g]kfn 200000.00

3=2=4 ;fd'bflos zf;g Ifdtf ljsf; rfn' LGCDP 800000.00

3=2=5 ;fdflhs ;'/Iff eQf -;+3Lo ;/sf/ rfn'_ 30000000.00

3=2=6
;fljs ln:tL / dfld{~ uflj;df dWoef]6]sfzL cfof]hgfjf6 k|fKt cg'bfg 

tt tt j8fnfO{{ cgbfg

6000000.00

3=2=7 rfn' vr{ 62950000.00

3=2=8
ljleGg sf]if -sd{rf/L sNof0fsf]if, dlxnf tyf jfnjflnsf sf]if, 

k|sf]k÷ljkb Aoj:yfkg sf]if, cfly{s ;xfotf sf]if, cf}ifwL pkrf/ sf]if, 
5000000.00

3=2=9
ljifout zfvf - :jf:Yo @% nfv, s[lif{ @% nfv, kz' ;]jf k|;f/ @% nfv, 

e';+/If0f @) nfv, dlxnf, jfnjflnsf, blnt, ckfu,hghfltF ljsf; @% 

nfv, jg * nfv, 3/]n' % nfv, ;xsf/L & nfv, lzIff @% nfv, 

16500000.00

3=2=10 uf8L vl/b -! j6f × $),)),)))_ 4000000.00

3=2=11 df]6/;fOsn vl/b -^ j6f × @,&),)))_ 1620000.00

3=2=12 uf=kf= kmlg{r/ vl/b 700000.00

3=2=13 j8fdf kmlg{r/ vl/b 1000000.00

3=2=15 uf=kf= d]lzg/L cf}hf/ vl/b 1000000.00

3=2=16 j8fdf ;f]nf/ h8fg -% j6f × !%)))) 750000.00

3=2=17 j8fdf d]lzg/L cf}hf/ vl/b 500000.00

3=2=18
ufpkflnsf cWoIfbf/f sfo{kflnsf dfkm{t cfsl:ds ?kdf ;Djf]wg ug'{kg{] 

of]hgf -k|To]s j8fdf !% k|ltzt eGbf sd gx'g] ul/_
20000000.00

3=2=19 ljleGg sf]if - ;dk'/s sf]if, cfs:dLs sf]if, nfut ;fem]bf/L cfbL_ 2000000.00

3=2=20 ljleGg u'?of]hgf lgdf{0f 2000000.00

3=2=21 j8f sfof{no dd{t tyf Joj:yfkg j8f gF ! 700000.00

3=2=22 ;fd'bflos :jf:Yo O{sfO{ ejg lgdf{0f tyf Joj:yfkg j8f g+ @ 700000.00

3=2=23 ;fd'bflos :jf:Yo O{sfO{ ejg lgdf{0f tyf Joj:yfkg j8f g+ # 700000.00

3=2=24 ;fd'bflos :jf:Yo O{sfO{ ejg lgdf{0f tyf Joj:yfkg j8f g+ $ 700000.00

3=2=25 ;fd'bflos :jf:Yo O{sfO{ ejg lgdf{0f tyf Joj:yfkg j8f g+ % 700000.00

241410000.00

99944000.00

ef]6]sf]zL ufpFkflnsfsf] cfufdL cfly{s jif{ @)&%÷&^ sf nflu tkl;n jdflhd cfDbfgL / vr{ ug{] ul/ ufpF 

sfo{kflnsfsf] j}7sn] :jLs[t ul/ k|fKt x'g cfPsf] jh]6 o; ufpF ;efn] :jLs[t ug{] lg0f{o ug{] lg0f{o ul/of] .

ef]6]sf]zL ufpFkflnsfsf] cfo tkm{

s"n ah]^

cfo tkm{ s'n hDdf ?=

s'n cg'dflgt vr{ tkm{

;z{t vr{ hDdf 

jfFsL ah]6



1 ufpkflnsf :t/Lo of]hgf 15000000.00

2 j8f :t/Lo of]hgf 75000000.00

90000000.00

j8fdf hfg] /sd 75000000.00

1 cfly{s ljsf; 4233000.00

2 ;fdflhs ljsf; 12170000.00

3 k'jf{wf/ ljsf; 70587000.00

4 jftfj/0f tyf ljkb Joj:yfkg 3010000.00

5 ;+:yfut  ljsf; tyf ljlQo Joj:yfkg 9944000.00

s'n hDdf 99944000.00

hDdf


